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L : : Reg No.
VI Semester B.A Degree Exammatmn, July-August 2024
g " POLITICAL SCIENCE
Public Policy Analysis
(CBCS-NEP Semester Scheme Freshers)
Paper - DSC-15

Time : 22 Hours Maximum Marks : 60
Instructions to Candidates:
Answer should be written completely in Kannada or in English.

PART - A

P - D
I Answer All the following multiple choice questions with correct answers in
answer booklet. (10x1=10)

81 BINS R, WD ©od) BIer JOING LUIBRTR), LT 3,803, LBCWD.
1.  Who is the first political thinker use the term public policy ?

a) Thomas Dye b) Marshal D. Moc

c) Paul Appleby d) Harold Lasswell

TR W aeeo:bm QTR2AT T, Towdecd 23038 033D 9

a) oI T b) InuEFe* 8. In*

C) T BFW d) T Gox@e
2. © The nature of public policy is

a) Art b) Science

c) Crft d) All of these

ROTFEIT V30 Fpgoss Q0TT

a) ©J b) D3

c) 8oBY d 2u3p

[P.T.O.
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Evolution of public policy 1s

a) Complex and Versatile

¢) Information and Non Justice
TORFHIT S DTRIR)

5) Toderar BY WIOWVD

c) TRk D) TRYT

All over the world cyber security is
a) Old Problem

c) Regional challenge

R0 PB,3 T,TowET,08 QTR
a) B IIX,

C) T,08e00 XToD

b)
d)

b)
d)

b)
d)

b)
d)
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Justice and Liberal

Democratic and liberal

New challenge

Natural Problem

BRX RS0

p-sfosted ;1:;::3‘5

One of the best merit example sectorial approach is

a) Bad Result

c¢) Common use

b)
d)

Special solution

Narrow participation

BOOH APFT GVBRD BROTROT 2,000 GUSR) YUTTTR D0TT

C) TORWI, WTF

Primary work of legislature is
a) Formulation of policy

c) Declare the war

TORTOONT T, BT FBF, Q0TS
a) TOSAI TBI

c) CONTTIIH, PREATORTO

b)
d)

b)
d)

b)
d)

RJeR BOTIT

TR PONDLROTTO

Establish of industries

Evaluation
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10.

When did NITI Aayog established

a) 1" January 2015 b) 15% March 1950
c) I* April 1935 d) 2™ September 1946
Qed SodRenSTY, 03PN T2, BoRURCZD 7

a) I8¢ mITO 2015 b) 153¢ =e 1950

c) 13 d&ef 1935 d) 23e FZowo® 1946
The CAG (Comptroller and Auditor General of India) is

a) Non-Government Body b) Private Institution

c) Statutory body d) International Institution

CAG (200,300 &2 Spse)AoNal:1eb)

a) XTFBeST 750;6‘; b) &%z z:’o:;;
c) RS W@ xom; d) 030 T98y003 xoﬂm

‘SWOT’ Analysis is feature of
a) Strategic Planning b) Long Process

c) Poor Analysis d) Lack of Analysis
‘SWOT’ QZearsod OB £9530NCOYTO

a) To0F303, odeems b) Oepr =30

c) TIX DFeRD d) DFemSodd 403

What is the feature of defining problem in policy implementation

a) Identification of problem b) Repeatation of process
c) Public Relation d) Data Analysis

Qo8 OTWITTOT R, 0T 39,839, 000JR0TON FOROWTOR VLD 08T

a)  RRR00RY, MHFRDT b) IIoREFE T,3,08
C) ROWFRIT TOTJIF d) T=08 IJeHrs

[P.T.O.
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13.

14.
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PART - B

won - W
Answer any Two of the following questions is not more than 500 words each.
cIRYOER SV FFNOR T,3cdeomEs, - 500+ TRt DGHOS - LV 0N

; (2x10=20)

Explain the constitutional basis in formulating of public policy.
ARTFHIT VES0DT) TRARDTY, FODTIT SYTOODRY, DFOX.
Discuss the role of cabinet in formulation of public policy.
TOTFHEIT VeS0T CRUROTY, T3, 03, W3WFA.

Explain the role of National Institute of Rural Development and Panchayath in
formulation of Public Policy.

ROTFHRIT VeSOV, TRWROTY, Togyeod Mo,0emmoRE0), 0=y Howsadds® Toes® AoFodd
TS, [, DT[OR.
PART - C
Pon - A
Answer any Two of the following questions is not more than 800 words each.
OSRPHTOWTR DR T[JNeR T,30000TBR, 800 JJIRVK QCTOZ  GVZOA.
(2x15=30)
Explain the features of public policy.
TTFHRIT De30D VT LN D=0A.

Discuss the role of ISEC (Institute of Social and Economic Change) in formulation
of Public Policy.

AOTFHIT Jed TesSohQ, ISEC (Fomnels 302 SHFT wHtens JoR)odd woZ,=3)
3R,

Explain the Planning process in Federal System.

Roo30T B=Z0IY, 03T ,8,0300307Y, DTOA.




